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7E: (i)

Note :

T 597 STRER 8, 99 7 @ 35 9 % IR e |

Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) % 77 % Gt 4T B FIIR T I F BT |

(ii

Solve all parts of a question consecutively together.

i) Fede g 1 79 75 8 TRET HIrT |

Start each question on fresh page.

(iv) 31 9TeTsT B 3R 51 1 [T & FE Sare S a8 |

1T

Only English version is valid in case of difference in both the languages.

B TR e 9TE 3 A @ 7

What is meant by ‘dual steer axle vehicle’ ?

(ii) 9Ty e sk & sich Ted 1 91 %1 BT B ?

(iii)

What is the function of brake valve in air power brake ?

TR e’ TR aTe H T FoRdT SITaT & 7 SehT T 1 Bia1 @ 7

In which vehicle ‘transfer case’ is used ? What is its function ?

(iv) IS HI TN AR ?

What is importance of seat belt in vehicle ?

(v) T U dTed 1 Aifehd o ST |

Draw labelled sketch of a poppet valve. - (2x5)

T S5 IR GTETT =Tei JTa St e GReu yurelt i fomrg R < wgear |
TSR |

Explain the power transmission system of front engine four wheel drive vehicle
with the help of layout diagram. 6)

(10f2) P.T.O.
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(i) SRR e T T G et &1 @i Juid hii |
Describe the double wishbone type independent suspension system with the
help of sketch. 6)

@) TN SRR R F s A i TEEAT U@ SRYUITE! i His THHET |

Explain the construction and working of floating caliper type disc brake with

sketch. (6)
(i) O3 I gor i fees e % @ fafen |

Write down the advantages of disc brake as compared to drum brake. (6)
() TS e TE TGS I SRR 1 g i |

Compare tubeless and tubed tyres. 6)
(i) siaer e ffen shan o1 e § quid hiT |

Briefly describe cold tyre retreading process. (6)
nhisier aTee T DR SRl aun 37 SRR S gt H ard Tl Skt B
Ui ST |
Describe the resistances acting on moving vehicle and different factors affecting these
resistances. (12)

SrafrT qeT Us Tl Ser 3 TTifha fE SRt Gl ol e Hifo |

Draw labelled sketches of Hotchkiss and torque tube drive and compare the two. 12)

fore Y e wfemmsT qen e fafe -

(a) T (b) T o= g

(c) WIS (@ PR

(e - (f) TIgWA-AHE

Write the definitions with sketch and effect of the following :

(a) Camber (b) King pin inclination

(¢) Included angle (d) Caster

(e) Toe-in (f) Toe-out on turns 12)

T Y31 USSR Sl ST SreTer FATee! 1 HeE F0i i | 39 areret! H dUe - AT
T Bl & AT g 1 T A € 7

Describe a push rod type valve operating mechanism with sketch. What is tappet
clearance in this mechanism and why it is kept ? (8+4)




